ok 419] ghe?
1
3 tan 45° — 32 cos 60° + V3 sin 60°
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/C 7} A7kQ) 47447 ABC o4 AB = 2, BC = 1 2

(sin B + cos B) (sinA — 1) &] 3127
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AC=V22-12=3
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D 4, 7, 3V3 @ 4, 7, V29
® 4, V51, 33 @ 4, V48, 9
@4 V52 33
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(1) AM  =52-32 =16 . AM = MB = 4
(2) AM = BM

L AM =6

x? =62 +4% =52

sx= V52

(3)62=x2+32 . x=3v3
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-2 139 gABCD oA /B = A
90°, AB = 6cm, BC = 3V5cm,
BD = 8V3cm ¥ ©, bABCD 9]
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AC = /62 + (3V5)2 = V81 = 9(cm)
OABCD9] o]
:1x8«/§x9><sin(180°—120°)
:§x8\/§x9><sin60°
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Z& | ARl (sin) | AR (cos) | BAE (tan)
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° | 0.7314 0.6820 1.0724
48° | 0.7431 0.6691 1.1106
® -0.724 @ -0.6820
@®)0.3180 ® 0.6820

® 0.3903

CD CD
= — = — = /\ = °
tanx = | 1.0724 9| A x = 47
BD=0D-0B
AO =1, cosx:£:@=0.6820
AO 1

~BD=1-cosx=1-0.6820 = 0.3180
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AABC2] Yo =10 x 24 x 5= 120(cm?)
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LOBA = 30°, /ABC = 75°, /ACB = 45° ©]1, B
A2 OA ©f doj& Fstofet.
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LA =180°—(75°+45°) = 60°
A_

AABC oA AR 2 o] o]5toq = AB =56

1160° sin 45°
. OA = ABtan30° = 52




